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BFIELZ T2 VIRER (5 M) WENO 13
# | bib EF4 FE FR4 HE (mEuETE| FHE ph we

175|FAH 84 % =1 [St.Agnes 11.533 10.133 11.166 11.933 44.765

176|7%0O &EX =1 |St.Agnes 11.666 8.966 10.866 11.666 43.164

177|F%0O E=% =1 [St.Agnes 11.433 8.000 11.033 11.366 41.832

1 178|KiE £ifF =2 |St.Agnes 11.900 4.866 11.366 10.100 38.232

F—LER(EM34AED 35.099 27.099 33.565 34.965 130.728

179|=H &1t =1 | EEEREEE 11.866 10.566 11.966 11.366 45.764

180|EH BE =1 [thASEHEIRERE 11.733 10.300 10.900 11.666 44.599

181|1LH &K =2 |iEEERS 7 12.066 8.866 8.933 11.200 41.065

182|1LifE =t =2 |tEEERY 57 11.600 8.000 9.266 11.333 40.199

183| Bkl HIBEE =2 |iEEERS 57 11.833 9.400 11.400 11.033 43.666

2 184|BH 9% =2 |tEEERY 77 11.766 9.600 9.166 11.700 42.232

F—LEBR(EM3EED) 35.665 27.866 29.832 34.233 127.596

185|7EH HX B2 BBSLFRTAYIRIFTT 11.800 7.866 8.566 10.533 38.765

186 |taH =& 3 |BIRSLFRTAYIRITT 11.900 7.100 10.233 11.733 40.966

187| K41 #ERF B2 |&ZIEYSMCIKES 57 11.633 6.366 10.533 10.433 38.965

188|ILH %A 51 (&KX YSMCiKIgEI 57 10.966 9.966 12.333 11.700 44.965

3 189|FEXK V£ Y F3 (&KZIZXEYSMCIFIES 57 *rv

190/ &8 BB 3 [FLIP{X#RY 57 iR 11.233 7.433 10.233 10.633 39.532

191|\& #1p =1 |#BEERERs 77 11.666 8.133 10.933 11.466 42.198

192|F M= 3 BT 2=THKIEI5T 11.666 7.466 9.400 10.266 38.798

193 1L =0 F3 MBS 2=THKIEI57 11.866 7.933 9.100 11.566 40.465

194\ XE &5 F3 |MES2=THiIEIF7 11.566 7.400 10.733 10.433 40.132

195|0—%2— &3k F13 MBS 2=THKIEI57 12.100 7.966 10.800 12.200 43.066

4 196 |#5FE #ak F3 |MES2=THiIEIF7 9.133 7.733 10.366 11.066 38.298

F—LEBA(EM3EED) 35.532 23.632 31.899 34.832 125.895

197|—El %8 F3 |FIFHEKEIFTT 12.100 10.566 11.600 13.233 47.499

198|HE M B2 |FIFHhEERIFTT 12.300 8.733 12.533 12.333 45.899
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